-0l/0{ /3l & — informal speech, polite to the listener

1) Verbs/Adjectives that end with —S}C}: -o| R

If verbs/adjectives end with =S} C}, change it into —3}| Q.
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2) Verbs/Adjectives that have vowel —Of or =2 in the stem : - O} R

For example, in verb ‘2 CH(to know)’, the syllable right before —LC}, ‘2’ has vowel ‘O}’.

In this case, -O} R’ is added after ‘2. 2L} (to know): & + O} R

2L} (to know): & + 02 = YOI
AFCY (to live) : &H+ 012 =
STt (toclose): BH+ 0tR = EOtR
T Cf (many) : B + 0t = BIOFR

Z L} (good) : E + Ot >

* Ity R
In ‘7FCF, ‘7 has vowel ‘OF, so -OF R is added’. 7}C} (to go) : 7} + OFR
There are two ‘OF’s consecutively. In this case, ‘O} is deleted. 7} + OfR = 7t

7ICt (togo): 7} +0OIR = 7t
OFLFCH (to meet) : OtLL + Ol = BILIR
MLCH (cheap) : M} + 0} =>

H| MC} (expensive) : H{ M} + O} =>

CECp R

In ‘2 CF, ‘5’ has vowel ‘Q’,s0 -O} R’ is added. = L} (to watch/look at) : E + Ot
If we have vowels ‘@’ + ‘O} consecutively, they become ‘@}. Sowe have : & + 0|2 = H} R

H C} (to watch/lookat): 2 + O = HOI2 = 22
QC}(tocome): 2 +0}R2 = Q0 >
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* OLELHR
In ‘OFZ L}, ‘X’ has vowel ‘9’. ‘O’ is a weak sound. If it is followed by vowels, it is deleted. In that case, we

should look at the syllable in front of ‘Z’. It is ‘OF, so -O} R’ is added. ~ O} ZL L} (sick) : OFZ + O R

‘O’ is deleted, then we will have: OfZ + Ot =» Ot + Ot =» OfLtR

O} C} (sick): O} + O} 2 =>» O}t

HiZF 0= CF (hungry): 1 + OfR = IR
LtEEC} (bad): LIEE + OF R =>

HFBE CHbusy): HEEE + O R =>

SRR "B

3) Verbs/Adjectives that have a vowel other than —O} or -2 in the stem : -0{ &
If verbs and adjectives don’t end with ‘—S}C}, nor they have —Of or =2 in the stem as in examples

of 2), -0{ & is added.

$0
HC| (toeat): H+ QR = HO L =}
FO
QICt(toread): A +HQ = A0 “59
QIC} (tohave) : R+ HR => I:QO
9iC} (nottohave): 1+ {2 =>
CRONE
In ‘Z=C}, ‘3" has vowel ‘2’. So ‘-0{ R’ is added. =L} (togive): T+
And if we have vowels ‘S’+ ‘0’ consecutively, they become ‘Q". TR = F
ZLCl(togive): T+ > FTHE D> FR e
Hl-Cf (tolearn) : H{S + 0|2 = HI RO 2 => :JBO
el
In ‘T|CF, ‘E|” has vowel ‘Q|". So 0] R’ is added. T|C} (to become): &| + {2
Vowels ‘Q|" + ‘0{” become ‘2}’. £/ 2 = &
Z|C} (to become) : E| + 1{R = £ = R
“OpAICKR o
In ‘OFA|ICF, “A|” has vowel ‘O|’. So -0 R’ is added. OFA|LC} (to drink) : OFA| + {2 fo
J
Vowels ‘O|” + ‘0’ become ‘04", OFA|{ 2 = O & I
_>L-I|_|
ORA|TH (to drink) : OFA] + 012 S ORA|O{Q S D4 2 o

C}L|C} ( to go somewhere and come back home regularly) : CtL| + O{ 2 = CIL| 0| 2 =
7}2X|C} (toteach): 72 X| + 0|2 =2 7 E2X|0{ 8 >




=
In ‘X|LHC}, ‘LH’ has vowel ‘Of’. So ‘-0 & is added. X|LHLC} (to spend time) : X|Lj + H{ R
If we have vowels ‘Of’ + ‘O{” consecutively, ‘0]’ is deleted. X|Llf + {2 = X|L}

K| LHC} (to spend time) : X|L{ + 02 = X|L| 2
H LY C} (to spend time/ send) : 2L + {2 >
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In ‘“AALCY, ‘A" has vowel ‘9’. ‘O’ is a weak sound. So it is deleted if it is followed by vowels.
‘A’ has no syllables in front of it. In that case, ‘-0{ & is added. AAL} (to write) : AA + 0| &
‘O’ s deleted, then we have: A + 0{Q = M2

ML} (to write/ wear a hat/to be bitter) : XA + {2 = M 2
AC}H(big): 2 +0{Q D
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*ofuCy s
In ‘0| BEC}, “BH’ has vowel ‘2. ‘9O’ is a weak sound, so if it is followed by vowels, it is deleted. In that case,

we should look at the syllable in front of ‘24", It is ‘Of|’, so “O{ 2 is added. O EEC} (pretty) : Of| B2 +O{
‘O’ is deleted, then we will have: 0j| B2 +O{ @ => Of|if{ @

Y
Of| B2t (pretty) : Of| 22 +0{ 2 => Of|tH =
FO
7|HBEC} (pleased) : 7|88 + 01 R =>» hll)
=ZIZCHsad): SZ+0{Q > I:%l

4) “ElCH' 2 (Most of adjectives and some of verbs with Xl ‘= follow this rule, not all verbs n adjectives.)
In ‘B L}, ‘B’ has Bt&l ‘1’. When it is followed by vowels, ‘&’ becomes ‘2’. B + 0|2 => H+2+0{ 2
Vowels ‘2’+ ‘0{” become ‘?|” when they are next to each other. Gl + 2+ {2 = 2|2

(In ‘ELF, delete E*ZX! ‘=’ and then add -2/ 2’ for your easy remembrance.)

EiCH(hot): E+ 0 =>EH+2+0{2 > HYL
SCt(cold): H+0{R=>F+2+0{2 > FgQ
WL (spicy): W+ 0{2=>01+2+0{2 D> OIFL
T et (cute): HE +AHE=>FO+ 2+ {2 D> AR

OF= EICt (beautiful) : OFEE + R => 0} ELI+ £+ {2 = OIELIY R
ziCt(easy): g+ 02 =>2{+ 2+ 0|2 > AR
O ZICt (difficult) : B + R =>0{H+ 2L +0{2 >

DML} (scary) : FH+ {2 =>F A + L2+ 0{2 >
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